Common Fixed Point Theorems for Compatible Mappings in Metric Spaces

Bijendra Singh¹, G.P.S Rathore², Priyanka Dubey³* and Naval Singh⁴

1Professor & Dean, School of Studies in Mathematics, Vikram University, Ujjain 2 Sr. Scientist, K.N.K Horticulture College, Mandsaur- (MP), India 3Bansal Institute of Research and Technology, Bhopal- (MP), India 4Govt.Science and Commerce College, Benazeer, Bhopal-(MP), India

Abstract

The aim of this paper to establish unique common fixed point theorems for compatible mappings in complete metric spaces and also illustrate the main theorem through a example.

***_____

Keywords : Common Fixed point, Compatible mappings, Commuting mappings, metric space.

AMS Classification No. (2000): 47H10,54H25.

1.INTRODUCTION

In 1976, Jungck [5] investigated an interdependence between commuting mappings and fixed points .Singh [13] further generalized the above result and proved unique common fixed point theorem two continuous and commuting mappings *S* and *T* from a complete metric space (X,d) .Ranganathan [12] has further generalized the result of Jungck [5] which gives criteria for the existence of a fixed point.Fisher[3] also proved the unique common fixed point theorem for two commuting mapping.Some common fixed point theorem of three and four commuting mapping were proved by Fisher[4],Khan and Imdad[8] and Lohani and Badshah[10] kang and kim[9].

In 1982 Sessa[14] defined weak commutativity in the theorem of Jungck[5] and its various generalizations by introducing the weak commutativity.Jungck[6] introduced again more generalized commutativity,the so called compatibility, which is more general than that of weak commutativity. After that Jungck[7] coined the term of compatible mappings in order to generalize the concept of weak commutativity.compatible mapping received much attention in recent years(see 1,2,11,15,16).

The main purpose of this paper is to present fixed point results for four self maps satisfying a new contractive condition by using the concept of compatible maps in a complete metric space. Which is generalization of the result of Badshah,Chauhan and Sharma[1] by using another type of rational expression. To illustrate our main theorems, an example is also given.

2. <u>Definition 2.1:</u> If *S* and *T* are mappings from a metric space (X, d) into itself, are called commuting on *X*, if

$$d(STx,TSx) = 0$$
 for all x in X .

Definition 2.2: According to Sessa [14] two self maps *S* and *T* defined on metric space (X, d) are said to be weakly commuting maps if and only if $d(STx,TSx) \le d(Sx,Tx)$, for all $x \in X$. **Definition 2.3:** If *S* and *T* are mappings from a metric space (X, d) into itself, are called compatible on *X*, if $\lim_{m\to\infty} d(STx_m, TSx_m) = 0$, whenever $\{x_m\}$ is a sequence in *X* such that $\lim_{m\to\infty} Sx_m = \lim_{m\to\infty} Tx_m = x$ for some point *x* in *X*. Clearly, *S* and *T* are compatible mappings on*X*, then d(STx,TSx) = 0, when d(Sx,Tx) = 0 for some point *x* in *X*. Note that weakly commuting mappings are compatible, but the converse is not necessarily true.

3. <u>Lemma 3.1[6]:</u> Let *S* and *T* be compatible mappings from a metric space (*X*, *d*) into itself. Suppose that $\lim_{m\to\infty} Sx_m = \lim_{m\to\infty} Tx_m = x$ for some point *x* in *X*.

Then $\lim TSx_m = Sx$, if S is continuous.

Now, let P,Q, S and T be mappings from a complete metric space (X, d) into itself satisfying the conditions

$$S(X) \subset Q(X), T(X) \subset P(X) \qquad \dots (3.1)$$

and

 $d(Sx,Ty) \leq$

$$\begin{cases} \frac{\alpha\{[d(Px, Sx)]^3 + [d(Qy, Ty)]^3\}}{[d(Px, Sx)]^2 + [d(Qy, Ty)]^2} + \\ \frac{\beta\{[d(Px, Qy)]^2 + [d(Px, Ty)]^2\}}{[2d(Px, Qy) + 3d(Px, Ty)]} + \\ \gamma[d(Px, Sx) + d(Px, Ty)] ; if D_1 \neq 0, D_2 \neq 0 \\ \\ 0 ; if D_1 = 0, D_2 = 0 \\ \dots (3.2) \end{cases}$$

Where $D_1 = [d(Px, Sx)]^2 + [d(Qy, Ty)]^2$ and

 $D_2 = [2d(Px,Qy) + 3d(Px,Ty)]$

For all $x, y \in X$ where $\alpha, \beta, \gamma \ge 0$ and $\alpha + 2\beta + \gamma < 1$. Then for an arbitrary point $x_0 \in X$, by (3.1) we choose a point x_1 in X such that $Qx_1 = Sx_0$ and for this point x_1 , there exists a point x_2 in X such that $Px_2 = Tx_1$ and so on. Proceeding in the similar manner, we can define a sequence $\{y_m\}$ in X such that

$$y_{2m+1} = Qx_{2m+1} = Sx_{2m}$$
 and $y_{2m} = Px_{2m} = Tx_{2m-1}$
...(3.3)

Lemma 3.2[7]: Let P, Q, S and T be mappings from a metric space (X, d) into itself satisfying the

conditions (3.1) and (3.2). Then the sequence $\{y_m\}$ defined by (3.3) is a Cauchy sequence in X.

4. <u>Main Result:</u>

Theorem 4. 1: Let P, Q, S and T be mappings from a metric space (X, d) into itself satisfying the conditions (3.1) and (3.2) and suppose that

One of P, Q, S and T is continuous, ...(4.1.1)

Pairs (S, P) and (T, Q) are compatible on X

...(4.1.2)

Then P, Q, S and T have a unique common fixed point in X.

<u>Proof:</u> Let $\{y_m\}$ be the sequence in *X* defined by (3.3) .By lemma 3.2, $\{y_m\}$ is a Cauchy sequence and hence converges to some point *u* in *X*. Consequently , the subsequences $\{Sx_{2m}\}, \{Px_{2m}\}, \{Tx_{2m-1}\}$ and $\{Qx_{2m+1}\}$ of sequence $\{y_m\}$ also converges to *u*.

Now suppose that P is continuous. Since S and P are compatible on X, lemmas 3.1 gives that

...(3.2)

$$p^2 x_{2m}$$
 and $Spx_{2m} \rightarrow pu$ as $m \rightarrow \infty$.

Consider

$$d(SPx_{2m}, Tx_{2m-1}) \leq \frac{\alpha\{[d(P^{2}x_{2m}, SPx_{2m})]^{3} + [d(Qx_{2m-1}, Tx_{2m-1})]^{3}\}}{[d(P^{2}x_{2m}, SPx_{2m})]^{2} + [d(Qx_{2m-1}, Tx_{2m-1})]^{2}} + \frac{\beta\{[d(P^{2}x_{2m}, Qx_{2m-1})]^{2} + [d(P^{2}x_{2m}, Tx_{2m-1})]^{2}\}}{[2d(P^{2}x_{2m}, Qx_{2m-1})] + [3d(P^{2}x_{2m}, Tx_{2m-1})]} + \gamma[d(P^{2}x_{2m}, SPx_{2m}) + d(P^{2}x_{2m}, Tx_{2m-1})]$$

Letting $m \rightarrow \infty$ and using above results we get

$$\begin{aligned} d(Pu,u) &\leq \alpha [d(Pu,Pu) + d(u,u)] \\ &+ \beta [d(Pu,u)] + d(Pu,u)] \\ &+ \gamma [d(Pu,Pu)] + d(Pu,u)] \\ d(Pu,u) &\leq 2\beta d(Pu,u) + \gamma d(Pu,u) \end{aligned}$$

$$(1-2\beta-\gamma)d(Pu,u) \le 0$$
 so that $Pu = u$.

Again consider

International Journal of Mathematics Trends and Technology – Volume 6 – February 2014

 $d(Su, Tx_{2m-1}) \le \frac{\alpha\{[d(Pu, Su)]^3 + [d(Qx_{2m-1}, Tx_{2m-1})]^3\}}{[d(Pu, Su)]^2 + [d(Qx_{2m-1}, Tx_{2m-1})]^2}$

+
$$\frac{\beta\{[d(Pu,Qx_{2m-1})]^2 + [d(Pu,Tx_{2m-1})]^2\}}{[2d(Pu,Qx_{2m-1})] + [3d(Pu,Tx_{2m-1})]} + \gamma[d(Pu,Su) + d(Pu,Tx_{2m-1})]$$

$$\leq \alpha[d(Pu,Su) + d(Qx_{2m-1},Tx_{2m-1})] + \beta[d(Pu,Qx_{2m-1}) + d(Pu,Tx_{2m-1})] + \gamma[d(Pu,Su) + d(Pu,Tx_{2m-1})]$$

Letting $m \to \infty$ and using above results we get

$$d(Su,u) \le \alpha[d(u,Su) + d(u,u)] + \beta[d(u,u)] + d(u,u)] + \gamma[d(u,Su)] + d(u,u)] d(Su,u) \le \alpha d(u,Su) + \gamma d(u,Su) (1 - \alpha - \gamma)d(u,Su) \le 0 \text{ so that } Su = u.$$

Since $S(X) \subset Q(X)$ and hence there exist a point *v* in *X*, such that

$$\begin{split} u &= Su = Qv. \\ d(u,Tv) &= d(Su,Tv) \\ &\leq \frac{\alpha \{ [d(Pu,Su)]^3 + [d(Qv,Tv)]^3 \}}{[d(Pu,Su)]^2 + [d(Qv,Tv)]^2} \\ &+ \frac{\beta \{ [d(Pu,Qv)]^2 + [d(Qv,Tv)]^2 \}}{[2d(Pu,Qv)] + [3d(Pu,Tv)]} \\ &+ \gamma [d(Pu,Su) + d(Pu,Tv)] \\ &\leq \frac{\alpha \{ [d(u,u)]^3 + [d(u,Tv)]^3 \}}{[d(u,u)]^2 + [d(u,Tv)]^2} \\ &+ \frac{\beta \{ [d(u,u)]^2 + [d(u,Tv)]^2 \}}{[2d(u,u)] + [3d(u,Tv)]} \\ &+ \gamma [d(u,u) + d(u,Tv)] \\ d(u,Tv) &\leq \alpha d(u,Tv) + \frac{1}{3} \beta d(u,Tv) + \gamma d(u,Tv) \\ (1 - \alpha - \frac{\beta}{3} - \gamma) d(u,Tv) &\leq 0 \\ \text{So that } u = Tv. \\ \text{Since } T \text{ and } Q \text{ are compatible on } X \text{ and } \\ Qv = Tv = u \text{ and } d(QTv,TQv) = 0 \text{ and hence} \\ Qu = QTv = TQv = Tu. \end{split}$$

Moreover by (3.2), we obtain

$$d(u,Qu) = d(Su,Tu)$$

$$\leq \frac{\alpha \{ [d(Pu, Su)]^3 + [d(Qu, Tu)]^3 \}}{[d(Pu, Su)]^2 + [d(Qu, Tu)]^2} \\ + \frac{\beta \{ [d(Pu, Qu)]^2 + [d(Pu, Tu)]^2 \}}{[2d(Pu, Qu)] + [3d(Pu, Tu)]} \\ + \gamma [d(Pu, Su) + d(Pu, Tu)] \\ \leq \frac{\alpha \{ [d(u, u)]^3 + [d(Qu, Qu)]^3 \}}{[d(u, u)]^2 + [d(Qu, Qu)]^2} \\ + \frac{\beta \{ [d(u, Qu)]^2 + [d(Qu, Qu)]^2 \}}{[2d(u, Qu)] + [3d(u, Qu)]} \\ + \gamma [d(u, u) + d(u, Qu)] \\ d(u, Qu) \leq \beta [d(u, Qu) + d(u, Qu)] + \gamma d(u, Qu) \\ d(u, Qu) \leq 2\beta d(u, Qu) + \gamma d(u, Qu)$$

$$(1-2\beta-\gamma)d(u,Qu) \le 0$$
 So that $Qu = u$.

Therefore u is a common fixed point of P, Q, S and T.

Similarly, we can also complete the proof, when Q is continuous. Since S and P are compatible on X, it follows from lemma 3.1 that

$$\begin{split} S^{2}x_{2m} &\text{and } PSx_{2m} \to Su \text{ as } m \to \infty. \\ \text{By (3.2), we have} \\ &d(S^{2}x_{2m}, Tx_{2m-1}) \leq \\ &\frac{\alpha\{[d(PSx_{2m}, S^{2}x_{2m})]^{3} + [d(Qx_{2m-1}, Tx_{2m-1})]^{3}\}}{[d(PSx_{2m}, S^{2}x_{2m})]^{2} + [d(Qx_{2m-1}, Tx_{2m-1})]^{2}} \\ &+ \frac{\beta\{[d(PSx_{2m}, Qx_{2m-1})]^{2} + [d(PSx_{2m}, Tx_{2m-1})]^{2}\}}{[2d(PSx_{2m}, Qx_{2m-1})] + [3d(PSx_{2m}, Tx_{2m-1})]} \\ &+ \gamma[d(PSx_{2m}, S^{2}x_{2m}) + d(PSx_{2m}, Tx_{2m-1})] \\ &d(S^{2}x_{2m}, Tx_{2m-1}) \leq \\ &\alpha[d(PSx_{2m}, S^{2}x_{2m}) + d(Qx_{2m-1}, Tx_{2m-1})] \\ &+ \beta[d(PSx_{2m}, Qx_{2m-1}) + d(PSx_{2m}, Tx_{2m-1})] \\ &+ \gamma[d(PSx_{2m}, S^{2}x_{2m}) + d(PSx_{2m}, Tx_{2m-1})] \\ &+ \gamma[d(PSx_{2m}, S^{2}x_{2m}) + d(PSx_{2m}, Tx_{2m-1})] \\ &+ \gamma[d(PSx_{2m}, S^{2}x_{2m}) + d(PSx_{2m}, Tx_{2m-1})] \end{split}$$

Letting $m \rightarrow \infty$ and using above results we get

 $d(Su,u) \le \alpha [d(Su,Su) + d(u,u)]$ $+ \beta [d(Su,u)] + d(Su,u)]$ $+ \gamma [d(Su,Su)] + d(Su,u)]$ $d(u,Su) \le 2\beta d(Su,u) + \gamma d(Su,u)$ $(1 - 2\beta - \gamma) d(Su,u) \le 0 \text{ so that } Su = u.$

Hence by (3.1), there exists a point w in X, such that u = Su = Qw.

$$d(S^{2}x_{2m}, Tw) \leq \frac{\alpha\{[d(PSx_{2m}, S^{2}x_{2m})]^{3} + [d(Qw, Tw)]^{3}\}}{[d(PSx_{2m}, S^{2}x_{2m})]^{2} + [d(Qw, Tw)]^{2}} + \frac{\beta\{[d(PSx_{2m}, Qw)]^{2} + [d(PSx_{2m}, Tw)]^{2}\}}{[2d(PSx_{2m}, Qw)] + [3d(PSx_{2m}, Tw)]} + \gamma[d(PSx_{2m}, S^{2}x_{2m}) + d(PSx_{2m}, Tw)].$$

$$d(S^{2}x_{2m}, Tw) \leq \alpha[d(PSx_{2m}, S^{2}x_{2m}) + d(Qw, Tw)] + \beta[d(PSx_{2m}, Qw) + d(PSx_{2m}, Tw)] + \gamma[d(PSx_{2m}, S^{2}x_{2m}) + d(PSx_{2m}, Tw)]$$

Letting $m \to \infty$ and using above results we get $d(Su, Tw) \le \alpha [d(Su, Su) + d(u, Tw)] +$

 $\beta[d(Su,u) + d(Su,Tw)]$

+ $\gamma[d(Su, Su) + d(Su, Tw)].$ $d(Su, Tw) \le \alpha d(u, Tw) + \beta d(u, Tw) + \gamma d(u, Tw)$ $(1 - \alpha - \beta - \gamma)d(u, Tw) \le 0$ so that u = Tw.Since *T* and *Q* are compatible on *X* and $Qw = Tw = u \ d(QTw, TQw) = 0$ and hence Qw = QTw = TQw = Tu.Moreover by (3.2), we have

$$d(Sx_{2m}, Tu) \leq \frac{\alpha \{ [d(Px_{2m}, Sx_{2m})]^3 + [d(Qu, Tu)]^3 \}}{[d(Px_{2m}, Sx_{2m})]^2 + [d(Qu, Tu)]^2} \\ + \frac{\beta \{ [d(Px_{2m}, Qu)]^2 + [d(Px_{2m}, Tu)]^2 \}}{[2d(Px_{2m}, Qu)] + [3d(Px_{2m}, Tu)]} \\ + \gamma [d(Px_{2m}, Sx_{2m}) + d(Px_{2m}, Tu)] \\ \leq \alpha [d(Px_{2m}, Sx_{2m}) + d(Qu, Tu)] \\ + \beta [d(Px_{2m}, Sx_{2m}) + d(Px_{2m}, Tu)] \\ + \gamma [d(Px_{2m}, Sx_{2m}) + d(Px_{2m}, Tu)] \\ + \gamma$$

$$d(u,Tu) \le \alpha[d(u,u) + d(Qu,Tu)] + \beta[d(u,Qu) + d(u,Tu)]$$

+ $\gamma[d(u,u) + d(u,Tu)].$ $d(u,Tu) \le \alpha d(Qu,Qu) + 2\beta d(u,Tu) + \gamma d(u,Tu).$ $(1-2\beta - \gamma)d(u,Tu) \le 0$ so that u = Tu.

Since $T(X) \subset P(X)$, there exists a point z in X such that u = Tu = Pz.

$$d(Sz,u) = d(Sz,Tu)$$

$$\leq \frac{\alpha\{[d(Pz,Sz)]^3 + [d(Qu,Tu)]^3\}}{[d(Pz,Sz)]^2 + [d(Qu,Tu)]^2}$$

$$+ \frac{\beta\{[d(Pz,Qu)]^2 + [d(Pz,Tu)]^2\}}{[2d(Pz,Qu)] + [3d(Pz,Tu)]}$$

$$+ \gamma[d(Pz,Sz) + d(Pz,Tu)].$$

$$\leq \alpha [d(u, Sz) + d(Qu, Tu)] + \beta [d(u, Qu) + d(u, Tu)] + \gamma [d(u, Sz) + d(u, Tu)]$$

$$d(Sz,u) \leq \alpha[d(u,Sz) + d(u,u)] + \beta[d(u,u) + d(u,u)] + \gamma[d(u,Sz) + d(u,u)]. d(Sz,u) \leq \alpha d(u,Sz) + \gamma d(u,Sz) (1-\alpha-\gamma)d(Sz,u) \leq 0.$$
so that $Sz = u$.

Since *S* and *P* are compatible on *X* and Sz = Pz = u, d(PSz, SPz) = 0 and hence Pu = PSz = SPz = Su. Therefore, *u* is a common fixed point of *P*, *Q*, *S* and *T*. Similarly,we can complete the proof, when *T* is continuous.

Finally in order to prove the uniqueness of u, suppose u and z, $u \neq z$, are common fixed points of P,Q,S and T. Then by (3.2) ,we obtain d(u, z) = d(Su, Tz) $\leq \frac{\alpha \{ [d(Pu, Su)]^3 + [d(Qz, Tz)]^3 \}}{[d(Pu, Su)]^2 + [d(Qz, Tz)]^2}$ $+ \frac{\beta \{ [d(Pu, Qz)]^2 + [d(Pu, Tz)]^2 \}}{[2d(Pu, Qz)] + [3d(Pu, Tz)]}$ $+ \gamma [d(Pu, Su) + d(Pu, Tz)]$. $\leq \alpha [d(u, u) + d(z, z)]$ $+ \beta [d(u, z) + d(u, z)]$ $+ \gamma [d(u, u) + d(u, z)].$

 $(1-2\beta-\gamma)d(u,z) \le 0$ so that u = z. Therefore, u is a common fixed point of P, Q, S and T. The following corollary follows from theorem 4.1.

<u>Corollary 4.1:</u> Let P, Q, S and T be mappings from a complete metric space (X,d) into itself satisfying the conditions (3.1) and (3.2). Then P, Q, S and T have a unique common fixed point in X.

Theorem 4.2: Let P, Q, S and T be mappings from a complete metric space (X,d) into itself satisfying the condition (4.1.1), for some positive integers s, t, p and q, following condition are as follows:

$$S^{s}(X) \subset Q^{q}(X), T^{t}(X) \subset P^{p}(X)$$
...(4.2.1)

and $d(S^s x, T^t y) \leq$

$$\begin{cases} \frac{\alpha \{[d(p^{p}_{x,S}^{s}x)]^{s} + [d(Q^{q}_{y},T^{t}y)]^{s}\}}{[d(p^{p}_{x},S^{s}x)]^{2} + [d(Q^{q}_{y},T^{t}y)]^{2}} \\ \frac{\beta \{[d(p^{p}_{x},Q^{q}y)]^{2} + [d(p^{p}_{x},T^{t}y)]^{2}\}}{[2d(p^{p}_{x},Q^{q}y) + 3d(p^{p}_{x},Q^{q}y)]} + \\ \gamma [d(P^{p}x,S^{s}x) + d(P^{p}x,T^{t}y)] \quad ; \quad if \quad D_{1} \neq 0 , D_{2} \neq 0 \end{cases}$$

...(4.2.2)

Where
$$D_1 = [d(P^p x, S^s x)]^2 + [d(Q^q y, T^t y)]^2$$
 and

$$D_2 = [2d(P^p x, Q^q y) + 3d(P^p x, T^t y)]$$

For all $x, y \in X$ where $\alpha, \beta, \gamma \ge 0$ and

 $\alpha + 2\beta + \gamma < 1$. Suppose that *S* and *T* are commuting with *P* and *Q* reseptively. Then *P*, *Q*, *S* and *T* have a common fixed point in *X*.

Now, we give the example to justify our results.

Example: Let
$$X = [0, 1)$$
, with $d(x, y) = |x - y|$

$$Px = Qx = \begin{cases} \frac{1}{5} - x & ; x \in [0,1) \end{cases}$$
$$Tx = Sx = \begin{cases} \frac{1}{10} & ; x \in [0,1) \end{cases}$$

In fact that $SP(0) = \frac{1}{10} = PS(0)$ so that SP x = PS xon [0,1).

Similarly $QT(0) = \frac{1}{5} - \frac{1}{10} = \frac{1}{10}$ and $TQ(0) = \frac{1}{10}$ so that QTx = TQx on [0,1).

Which shows that the pair (S, P) and (T, Q) are weakly compatible.

Let $x_n = \left(\frac{1}{10} - \frac{1}{10^n}\right)$ be a sequence in X converges to $\frac{1}{10}$ as $n \to \infty$. Hence, for such x_n sequences Sx_n, Tx_n, Px_n, Qx_n converges to $\frac{1}{10}$ as $n \to \infty$.

$$PSx_n \to \frac{1}{10}, SPx_n \to \frac{1}{10}as \quad n \to \infty.$$

Therefore,

$$\lim_{n \to \infty} d(SPx_n, PSx_n) = d\left(\frac{1}{10}, \frac{1}{10}\right) = 0$$

Showing that the pair (S,P) and (T,Q) are compatible. We can easily seen that condition (3.1),(3.2) and all the condition of theorem 4.1 is satisfied, then from above example it) is clear that $\frac{1}{10}$ is a fixed point.

<u>Remark:</u> In the above example, the mappings S,T,P and Q are continuous and the pair (S,P) and (T,Q), compatible and weakly compatible.

References:

[1]Badshah,V.H,Chauhan,M.S,Sharma.D.,Common fixed point theorems for compatible mappings,international journal of theoretical & applied sciences,1(2):79-82(2009).
[2] Chugh. Renu and Sanjay kumar., Common fixed points for weakly compatible maps. Proc. Indian Acad. Sci. (Math. Sci.), Vol. 111, No. 2, May 2001, pp. 241–247.

[3] Fisher .B., Common fixed point and constant mappings on metric space ,Math. Sem. Notes, Kobe University 5(1977), 319-326.

[4] Fisher.B., Common fixed points of four mappings, Bull. Inas. Math.Acad.Scinica, 9: 399(1981).

[5]Jungck,G., Commuting mappings and fixed points,Amer.Math.Monthly 83(1976) 261-263.

[6]Jungck,G.,Compatible mappings and fixed points,Internat.J.Math.Sci.(1986),no.4,771-719.

[7] Jungck,G Common fixed points for commuting and compatible maps on compact Proceedings of the American Mathematical Society 103 (1988), no. 3, 977–983.

[8] Khan, M.S and Imdad , M., Some common fixed point theorems, Glesnik Math18:38, 321(1983)

[9]Kang,S.M., and Kim,Y.P., Common fixed point theorems, Math. Japonica, 37:1037(1992).

[10] Lohani, P. C. And Badshah, V. H. Common fixed point and weak**commuting mappings. Bull. Cal. Math. Soc. 87(1995), 289-294.

[11] Mehta.J.G., and Joshi.M.L., On Common Fixed Point Theorem in Complete Metric Space. Gen. Math. Notes, Vol. 2, No. 1, January 2011, pp. 55-63.

[12] Ranganathan, S. A fixed point theorem for commuting mapping. Math. Sem. Notes. Kobe.Univ. 6(1978), 351-357.

[13] Singh,S.L.,On common fixed point of commuting mappings math.Sem.Notes.Kobe.Univ5(1977),131-134.

[14] Sessa ,Salvatore.,On a weak commutativity condition of mappings in fixed point consideration,Publ.Ins.Math.Beograd (N.S)32(46) (1982),149-153.

[15] Srinivas,V and Umamaheshwar Rao,R.,A fixed point theorem on four self maps under weakly compatible.proceedings of the world congress on Engineering 2008 vol II,ISBN:977-988-17012-3-7.

[16] Shukla.D.P., Tiwari.S.K., and Shukla S.K., Unique Common Fixed Point Theorems For Compatible Mappings In Complete Metric Space Gen. Math. Notes, Vol. 18, No. 1,September, 2013, pp.13-23.